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1 Evaluate 8°.

ADBWOES ciiavssvcioveis anassvisiisooisssusranississ s sanss

(2]

2 Simplify 3(a + 5)—a (a-2).

ADBWCEE . cucvovimonassuuns s Gt st s S A

(2]

|

3 The diagram below shows a right pyramid with a square base ABCD and apex P.

A

How many planes of symmetry has the pyramid?

"
IARRBIOEE: . .o cosisusssspmmmmpiosiehsnissnnpas KACIPASEHHONIRES

(2]
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4 Use set notation to describe the shaded region in the diagram below.
E P
Q
BB v s e G HEOR I [2]
5 -2
5 Express (-1 2 -3)|4 2| asasingle matrix.
3 1
BRI Y v o RS 2]
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6

Onlhediagramintheanswerspace,&’=2and56=g.0iven that&{=g+g,dmwa

directed line segment OR on the same diagram.
Answer:

o)

\
ﬂ y
\\

The first and second terms of an arithmetic progression are 100 and 95, respectively.
Find the

(a) tenth term,

(b)  sum of the first ten terms. (s,, = g[Za +(n— l)d])

(2]
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(a)

(b)
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There are 45 green and red marbles in a bag. Given that the probability of choosing

a green marble is %, calculate the number of green marbles in the bag.

The base areas of two containers that are geometrically similar are 80cm? and
180em?, respectively. If the capacity of the larger container is 54 litres,
calculate the capacity of the smaller one.

AAONREY () socusicmviiaisisaisiie (1]

(2)

(b)

Mogadishu and Kinshasa are on longitudes 45°E and 15°E respectively. If it is
11 30 hours in Mogadishu, what time is it in Kinshasa?

What is the shortest distance over the Earth’s surface between A(32°N, 8°W) and
B(40°N, 172°E)? [R = 6370km, 7 = %1

P ) GRS —— [1]
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10 (a)  The length of a wire is 5.2cm, correct to 1 decimal place. What is its maximum
possible length?
(b)  The dividend due on 1 000 shares at the end of a financial year is K2 250.00. If the
annual dividend rate is 3% of the share value, calculate the value of each share.
ANSWEr:  (8) o [1]
[ 1) o RS e e [2]
11 (a)  Find the gradient of the straight line whose equation is 3y + x = 5.
(b)  The diagram in the answer space below shows triangle P on the Cartesian plane.
Given that triangle P is mapped onto triangle Q by a reflection in the line y = - x,
draw and label triangle Q.
ABRSWEN: (8) ---ovovnispumvsvanininginsossones [1]

(b) VA

&

¢

L%

“

2]
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12 (a) Factorise completely km — 6/n + 3kn — 2im.
(b)  Inthe diagram below, MN is an arc of a circle whose centre is O and radius 21cm.

M

21
20°

0 N
Given that M6N = 120°, calculate the area of the sector MON,

[Take = to be %]

ANewers W) iR [2][

4 -1
13 (a) Findlhelransposeofthcmalrix8=(2 5].

(b)  Find the percentage error of the mass of a bag of sugar that weighs 10.00kg, correct
to 2 decimal places.

Amswersy (B) .cc..cciconviinin R T (2]
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14 (a) GiventhatE={ag b, c,d e fg h},A=la b c diandB=1{b ¢ d e f},
list (A W B)'.

(b)  Find the equation of the straight line passing through (-4, 4) and is perpcndicular-to

the straight line whose equation is y + % = 1.

ADIWEr: (B) socuiassenmiisimsmvsnenversss 1]

For
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15 The diagram below shows an equilateral triangle ABC. A is due North of B and CN is

parallel to BA. 2
N
C
B
A
Find (a) BCN,
(b) the bearing of C from A.

ADBWEL: (B) inciiiiiniiinisiiiiisiiviins [2]
N ) sussmunmiranmnampesaassss [2]
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Given that fix) = 5‘;4 and g(x) =x—1,
Find

(@ [,

) [-2),

(¢)  fg(x), inits simplest form.

Answer: (a)

Page 9 of 15
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17 (a) Evaluate 5 + 5" use
(b) In the answer space below, is an incomplete simple program pseudocode for
calculating and outputting the volume of a cylinder V, given the base radius » and
the height 4. complete the program by filling in the blank spaces with appropriate
statements.
Answer: () s R R [2]
(b)  Begin
BT e e T T s e e o .
NV Siisereveissssspiisvisvesicssnasanicasiniiainses ®
Output V;
End [2]
18 (a) Find [(6x" - 5)dx.
(b)  The diagram below shows triangle PQR in which PQ = 12em, QR = 10cm and

POR = 150°.

Q 10

P
Calculate the area of triangle PQR.

ARBwers: (8) Giiiiiiiieviiiiisi [2]
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In the diagram below, PR is a diameter of a circle with centre O. Q and S are points
on the circumference. The tangent to the circle at the point P meets QS produced at T,
PQS = 26° and QPR = 42°.

Calculate

@ PRs,
® PR,
(c) PfQ.

Page 11 of 15

ADPWE: ) scaissipnsiiis, [1]

D) s (1]

L) seaconsrrancansmossnonsainaseonssanssannsrde (2]
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20

It is given that w varies directly as the square of x and inversely as y.
(a)  Write an expression for w, in terms of x, y and a constant £.
(b) Ifx=-6,y=12andw= 15, find £.

(¢)  Find the value of y when x = 8 and w = 20.

Q
ABSWEYS (W) oiisiisiaimenimvsmnces
) issicisinvasiiivnsiG
713 RSO SRR SRR ———.
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21 On the XOY plane below, region R is unshaded.
¥

/’

A

-

p3
| Al
e

S S

R

A
s

N\

 BEEN N i | u

Write the four inequalities that define the region R.

ABSWEES:  aiaisesisiiiesiaimein

............................................
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22 (a) Solve the equation x* = 3x.

(b)  The diagram below shows a sketch of the graph of y = 3 — 2x — x°, passing through
P, Q and R.

Find the
(i) equation of the axis of symmetry of the graph,
(i)  coordinates of the turning point of the graph.

Answer: (a) xX=............ [+ CT—— (2]
9 ) sameannaaiss [2]
@) seossnmmonenssnmsons (2]

For

uye

Mathemalics/4024/1/2016



23

The diagram below is the speed-time graph of a particle. The particle accelerates uniformly,

from a speed of v m/s to a speed of Sv m/s in 20 seconds.

A

Speed m/s)
Sv

Page 15 0of 15

>x

(a) Find an expression in terms of v, for acceleration.

(b)  The distance travelled by the object from 0 seconds to 20 seconds is 80m. Find the

value of v.

(c) Find the speed at 1 = 15 seconds.

20 time(s)

idemy.com

Answer (a)

............................................

............................................
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